-3x+ 16



61-
1:[

g(-

1) =

f(x) = ax o H3l] f(2) = 1 ©]
3Y W, ab 9] FH2?

M






A ~2y + 4 -8 = 0] 17

4.




Ay =ax+b(a#0)° 21z it AP o= 7] 2 A

@ yE®HL polt.
@ AAe] 71&7]= aolH.

@ y=ax2 YD E yZo] HgFo & putE PPo] 3t
2] dolrt.,
b
® 4 (-2.b) & Aurk
a



gl

filo

o % x oy Aol o] TAAE A T AL T2W?

O AP =39 Zo] xem @F ¢ HE] Zo] yem — y = 4x
@ 10L o x ¥ al=3dhq oL o ghy ¥ —y=2x

Azkell Z] 5017} Gom 7} S Eol A9 2P



O y=2x+1

®y

(x9] H%)

@ vy



8. H=Fy7hxdrtotd A 1=W?

@ A5 x &3 22 e Y]y ofth
@ A= x 9 ofgo ey ol

® 440l 2m 91 59| T Mol 1 2ol 1em A 54e]



9.  fx)=ax+3°0A f(2) = -1 LW, f(4) ] G F5HA?



“3x+62] Tejm7} kg 1}
ko) gre Falolat.

®
©)
®
Wl o




@ 3 3 4 @® 5 B 6

@D 2



12, o8 % QARS y = 20+ 1 9] T 9] Qe FL?

@ (0, 2) @ (1, 2) @ (-1, -1)
@ (-2, -2) ® (2, 3)



A=

A7y =3x+2 9 L3

@ 2 3 3

A 1



off =

i

2x—y+4 =02 1)

o|J

A,

=
=
@ y=2x+11 9 1

®© H(-1, 4)

Zolet.

® A2, 3. 4 AF



o|J
™
ol
ofg

odl
I
A

el
KA
o

@ — U=
Zﬂ 1,2, 4 /\I' H

=] =
@ =1 (1, —3) = ;‘]H_-E

@9 O 9 @@7@ () o @
C @
@
@
@@
@
’@



@ x#ol FASE y Y= SUIRH
@ y=-2x+29 IHTEyZLFOoF 2
]';;’- =) og O]Eo]— JEHJ_LO]E]_

® y=-3x+49 It o] DL HT}
yZo] 717t




17. Q3o g =y} ohe 1 22 o,
2ro

ol
=

718717k 7V 2k Zlakydwel 714 4
AOR S AL

e @, Q0=
@E,E ©—|’E

2N

sy M



®a>0,b>0

@ a<0, b<0

Aty =ax+ b O IHZE Hi a 9F b o FEE

yl\
/,
0) T
@ a>0,b<0 ® a<0,b>0
® a=0,b=0



19. o= 2] T FollA y Foll 7H 77k A7

D y=3x-6

1
@ y=-:+2
y 2+

@ y=4x+1

® y=-2x+3



@ (-2, 1)

@ (0, 0)

@ (4, 2)






YA

/TP

X

\o |

YA

YA

@)

=8

YA




B 3



24.

AT f(x) = 20— 69] TNTZ 5
Tehme] cawa y AR e

D 4 ® -4 B -1



® =14 3 0 @ 14 ® 18

D =18



